SM7EEFE4E
KIRFEEHEEMER (BE)

1. FEE

2. HES

3. FfEER

4. REBR

5. A&

6. HFERIA
(1) EBRABR
(2) AR
(3) A F#x

(4) BRAFHH

7. SREERE S

(M EHBR
(2) BHIBRT
(3)EHF&E

8. BAFEHIA
(1)EAHBE
(2) AT
(3) A F 5k

(4) AT

KR

EFRBEES

EFRBEMETHEF L/\ARE10

RS

FAEKRERE

9. BRE
(1) B 68148 (L) 9304~
(2)5Fr KR % 55 &k U B[ 57 55 15

10. HEKRE

(1) B F1HBERUE4IHBDRI< B
8HF305 ~ 9 15%
(2)5Fr KiR#: B 5 HERERE

11. BESHE  RODESY

12. RERZ

6H22H 1 2 3 4 5 6 7 8 9 10 | 11

H¥RATERS(11:3012:00| 12:35]13:10/13:45/14:20/15:00| 15:35|16:10| 16:40| 17:15

HE 12:20/12:50{13:25/14:00/14:35|15:10|15:50|16:25|17:00|17:30| 18:05

6H23R-30H| 1 2 3 4 5 6 7 8 9 10 | 11 12

AR AH EFERZ
%18 6H22H =] 12:20
%28 6H23H A 11:50
%38 6H24H X 12:20
%48 6H29H =] 12:25
%58 6H30H A 11:50
%68 7RA18 X 12:20

68118

6H8H (B) 9FF~128F

KiR#E 55

OHERAE QFEFHKL

QE B XL

@JIRAD ZEEN B o1=-EITIRAFKITD

PRERAEIIRAE
1BE(ZDZ200H

6A8H
KiR% B 15

(B) 9BF~12FF

OFBEMEHE QAR R EFaL

QR Em 1k S FFEE
@EpS>HBEDEE

6A8H
KiR%: B 15

(B) 9BF~128F

OEEFEHRAE QBFREFL

HE. UEREECICEFREXMAN
FESNTLREIZDOVNTIK, ZYID
BEBFETICRIFIZIRET 5L,

1TAIZDE200M

¥R E|11:00]11:30] 12:05] 12:40/13:15/13:50| 14:25/ 15:00|15:35|16:10| 16:50| 17:25

HiE 11:50/12:20{ 12:55|13:30/14:05(14:40|15:1515:50{16:25|17:00|17:40|18:15

6H29H 1 2 3 4 5 6 7 8 9 10 | 11

HRRATER S 11:35/12:10] 12:45]13:20/ 13:55/14:30|15:05| 15:40|16:15|16:50| 17:25

HiE 12:25/13:00{13:35/14:10/14:45|15:20|15:55|16:30|17:05/17:40|18:15

6A24B-7R1B| 2 3 4 5 6 7 8 9 10 | 11

H¥RATER S| 11:30]12:05] 12:40| 13:15/13:50| 14:25|15:00| 15:35|16:10| 16:45|17:20

HE 12:20/12:55|13:30|14:05/14:40|15:15|15:50|16:25|17:00/17:35|18:10

13. EE-HANSATILEE
(BE)ALNDKEMIT, (B)Y—F2)—hyT (Jpnll) k547 IL
(BEEEEEEZLE-1ER)
(B)9A4FT—hyT &, (B)NVYTRTUVRSATIL
(BEHEEEZEZDE-1~3FE)

14. Dt

(1) C2#RI%. 1FAfE2HE

(2) EEFE. SF. 2RDOHEFBEEREATRITE

() COBEMICHARIN TOWVEVWEIEIEHFERERRUVREEGREEICELD

(A BEEOXMRIE. () EFRETREBLTITLES . FHREFITOVTIE,

(1) EFREERICEBLEHELLESLY,
B)HREEDZBICH->TIEIAMRAXEL, HERZET

(B)EFBHFEICLY. COFMICHATEINTLWSEES - EFUFITOVT. EETD
BENBHYFET,

15. EE-HFRERE

HERBIFA D RT—LavihE
(B)ESE—FEEEAHAENDKREH (M)
(LLATADE)
1 HEEH® YSTLYRFRIFULEA—T
2 BHEESE 4%l LE57ke. 3% 55ke. ftE 2k
3 HIE — &R E
HERZVF R T—aVE
EFRMEE
BMHRE
RENFZERE

mEEEREF

(B)FEAEIVAF—hvyT (M3)

1 HEER YSILYFRIE

2 BiHEE 56kg. fLHE2kegBEL. HBITER10005ALLE
1500/ A%k ke, 15005 M LLE20005 Ak
2kg. 20005 ML L 3kgnE

3 ®lE WEE|ERE

FENBEERE

DA=F L& X ERHF

FEREEE

1 HEEHR YSILYFRBI#R

2 BIEEE 56kg $HE2kgB Ll LRDHEAFIFIZ
EELE-=ElI2kgME

3 Bl&E DAZFUIEXERE
RENFEERE
AT R
INZE 4R
HE5



[NM7EE $£40 KRBER BEEFHE

(B FH)
H 7 7 v > K E3
b [ it
A= AR B1#k B2#k C1#k C2i#k 3% 2%
i - @ 1,600 @ 1,600 ® 1,600 @ 1,400 ® 850 @ 1,300 @ 1,300 @ 1,300 @ 1.40 ® 1,600 @ 80| 11 R
800 600 = 600 400 400 — + 400 3,500 800 [ 2,000
1 " = 280 - 20= $& 210 140 A 140 + $E — 140 > 1,225 Bl 280 7 Zf 5 700
68228 160 120 8 120 80 # 80 M & # 80 w 700 @ 160 a am 22 B a0 18275
(") |& 104 8 = 8 52 52 B 52 3 o 455 104 w5 ok B 00
56 42 42 28 28 28 R 56 XX 7 100
i - 2 1,600 @ 1,600 @ 1,600 @ 1,400 850 ® 1,300 @ 1,300 @ 1,300 @ 1,300 (D 1,300 @ 1,400 ® 1,400 12 R
900 800 = 800 600 400 — — — = 700 =
2 5 §§ 315 — 280 = & 280 210 s # x B t B A B B2 — 24582 = &
68238 w180 M 160 M 3% 160 120 80 M % M % M % M w140 g B 11, 550
(A) |& 17 104 = 104 78 52 = = = = 91 =
63 56 56 42 28 49
i - 850 D 1.600 @ 1,600 @ 1, 600 © 1,400 @ 1,400 3 1,400 @ 1,400 ® 1,400 @ 1,300 ® 1,300 11 R
800 600 = = 400 — — 600 = 850 750
3 " 280 = 210 £ E - M= £ = # Cl — 2100 = $& 298 263
6H248 160 #0120 8 3 M % #0080 8 % M % % # 120 % # % 170 150 10, 422
[CSRRE: 104 78 = = 52 = = 78 = 85 75
56 42 28 42 43 38
Lk - B D 2 000 @ 1,600 @ 1,600 ® 1,600 @ 1,400 @ 1,300 @ 1,300 @ 1,300 D 850 ® 1,300 & 1,300 11 R
% — 15,000 500 — — 500 400 -+ - 400 500 —
4 | - § 5,250 - 1= & = # 175 A M0+ - 140 G2 — 1756 = 4
68298 Y <2 3000 100 8 % M8 % 100 £ 80 B o B 80 w100 B R B 33,425
8) (& - %7 1o I = 65 L7 4 52 65 4
n 1,050 35 35 28 28 35
it E by - I D @ 1,600 —IEHE @ 1,400 @ 1,400 ® 1,400 © 1,400 @ 1,400 3 1,400 @ 1,400 (D 1,400 @ 1,300 ® 1,300 12 R
1,500 - 1,400 500 — — 400 — — — — 500 —
5 8 M— 55 g = 490 A 15+ & A & m M0E F oA & ot & A & 2= 175Cm 4
6H30R i #0300 = g8 280 #0100 8 % A % #0080 M & M & M % M % ® # 100 % # % 12,950
(B) |& 21 195 ;j 182 65 = 4 52 = = ® 5 65 5
105 98 35 28 35
LR - B D 1,400 @ 1,600 @ 1,600 ® 1,400 @ 1,400 ® 1,400 & 1,400 @ 850 | @ 1,400 @ 1,400 (D 1,400 1R
% 1,400 500 — 500 -+ - + - 500 400 — —
6 H i 490 175 # »n 15+ # — £ = £ 175 - 0= £ = #
7818 > 280 100 M 4% M 100 M 4% M@ g M@ 3§ 100 # g0 # & M B 10, 675
o) & 5 182 65 = 65 = = = 65 52 = =
5 98 35 35 35 28
e 150 t* 5 3 35
HE T4 B 110 110 110 110 105 15 110]s&  200] 150
B 28, 700 5 075 8,575 7,350 12, 250 16, 800 12,425 6,122 97,297
M &EF 1, 400 1, 400
i 1,050 35 245 1,330
HET 447 2,090 2,090 6, 798 1,392 16,611 16, 920 12, 320 3,950 68, 171




